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General Instructions:
Fill the above information neatly and correctly.
The Paper consists of 60 questions.
The Time Limit for solving the paper is 60 minutes.
Tick the correct option for Objective Type Questions.
Fill in the blanks for Fill Up’s.
No rough work is allowed on the test paper.
Each question carries one mark.
There is no negative marking.

Objective Type Questions: Tick the Correct Option.

QL. Identify the kind of sentence: We bought books since we need to get ranking marks.

A) Simple B) Double C) Multiple

Q2. Unscramble the following words to form a meaningful sentence:

D) Complex

details / programs / and / Prime Minister / the / details / policies / his / the / for / year

A) The programs and policies details his Prime Minister for the year.
B) For the year, the Prime Minister details his programs and policies.
C) The Prime Minister details the policies and programs for his year.
D) The Prime Minister details his policies and programs for the year.

Q3. Reorder the letters to form a meaningful word: ecnalbmeser
A) Resamblence B) Resemblence C) Resembelance

Q4. Select the appropriate antonym: Native
A) Alien B) Indigenous C) Endemic

Q5. Select the appropriate synonym: Destitution
A) Adequacy B) Poverty C) Humility

D) Resemblance

D) Inborn

D) Moderation

Q6. Pick the word which means differently from the following group of words.

Perplex, Puzzle, Humbug, Confound, Embarrass, Render
A) Humbug B) Embarrass C) Render

D) Perplex



Read the passage given below and answer questions from Q7. to Q10.

Julius Caesar, the great Roman Emperor, was well known for making crucial decisions quickly.
When he landed in Britain with his troops, he saw that the British were courageous and fearless
fighters. Caesar realized that such brave soldiers would never surrender to his forces without a tough
fight and might even defeat his troops. If they were defeated, they would have to retreat their ships.
Caesar thought that the presence of his fleet in the harbour would tempt his soldiers to give up fight
easily and withdraw to the safety of the ships. He decided to burn all his ships so that his troops could
not withdraw from the British shores, no matter what happened and would either have to win or die
fighting.

With the hope of returning to their ships gone, the Roman Soldiers fought relentlessly and won the
battle in spite of the fact that they were pitted against superior forces. This ability to take prompt
decisions was the key to Caesar’s success and he won many battles because he could take important
decisions quickly. Great men like Caesar and Napoleon cultivated the power to decide instantly
which course of action to pursue. By taking prompt decisions, they inspired confidence, courage and
trust in their soldiers.

Q7. When Caesar landed in Britain, he realized that

A) the British would never surrender C) Both (A) and (B)
B) the British might defeat his army D) None of these
Q8. Which quality of the Roman Emperor is being displayed here?
A) Making crucial decisions instantly C) Stubbornness
B) Fearlessness D) Stupidity
Q9. Caesar decided to burn all his ships because .
A) his ships were old C) he didn’t want his troops to lose hope and withdraw
B) he wanted to capture British Ships D) he did not want to return to Rome

Q10. Which word in the passage means ‘to stop fighting and accept defeat’?

A) Withdraw B) Surrender C) Retreat D) All of these
Q11. Which word isn’t correctly spelt?

A) Address B) Accomodate C) Absence D) Awful
Q12. What is matter written by hand know as?

A) Autobiography  B) Manuscript C) Plagiarism D) Biography
Q13. Complete the idiom which means a way of asking what someone is thinking:

A for your thoughts.
A) coin B) glimpse C) drop D) penny

Q14. Reorder the phrases to make a meaningful sentence.
of vegetarians are / shown that the / surveys have / medical bills / than those of non-
vegetarians / considerably lower
A) Of vegetarians are shown that the surveys have medical bills than those of non-vegetarians
considerably lower.
B) Medical bills surveys have shown that the of vegetarians are considerably lower than those
of non-vegetarians.
C) Considerably lower medical bills than those of non-vegetarians surveys have shown that of
vegetarians are.



D) Surveys have shown that the medical bills of vegetarians are considerably lower than those
of non-vegetarians.

Q15. The telephone rang. The of the telephone startled all of us.

A) ring B) ringing C) rang D) rung
Q16. Replace the underlined word: Admit to a good school isn’t easy these days.

A) Admition B) Admittion C) Admision D) Admission
Q17. This table seems to be made of but it isn’t.

A) glasses B) glass C) aglass D) some glass
Q18. Each of the teachers working in my school a female.

A) am B) is C) are D) were
Q19. Please, the page.

A) bring up B) set up C) turn over D) bring down
Q20. Find the adverb: | will probably be able to see my friend after work.

A) see B) will C) probably D) able
Q21. It’s a nice morning. Let’s go out for walk.

A) a B) an C) the D) No article required
Q22. Everybody enjoys your company because you are so all the time.

A) lugubrious B) pensive C) cheerful D) depressed
Q23. If my car breaks , I’1l call the mechanic.

A) up B) down C)on D) off
Q24. Would you like coffee?

A) some B) any C) little D) much

Q25. Punctuate the given sentence: he said to her have you packed your school bag
A) He said to her, “Have you packed your School bag?”
B) He said to Her, “Have you packed your School bag!”
C) He said to her, “have you packed your school bag?”
D) He said to her, “Have you packed your school bag?”

Fill Up’s: Fill in the blanks using clues from the brackets.

Q26. Edison always ................. (want) to make things that would improve the lives of people

Q27. One day while selling newspapers at a railway station, Edison ................. (save) the life
of a child.

Q28.He ......ceeeeenn. (be) the son of a station official.

Q29. To express his gratitude, the child’s father ................. (teach) Edison how to use the
telegraph.



Q30. When Edison was sixteen, he ................. (move) to Canada to be a telegraph assistant.
Q31. His first invention was an automatic telegraph that ................. (make) it possible for him

to send signals while he was sleeping.

Q32. The telegraph always .................. (fascinate) Edison.

Q33. A few years later, he ................... (quit) his first job to be a full time inventor.

Q34. His first attempts at selling his products were not successful, buthe ..................... (not
give) up.

Q35. Edison gradually .................... (become) an American inventor and businessman.

Q36.He .....ceeennvennns (be) one of the first investors to apply the principles on mass production
to invention.

Q37. His talents eventually .................... (Iead) him to found 14 big companies.

Q38. One of his most widely known ...................... (invent) is the light bulb.

Q39. Many museums and memorials have alsobeen ...................... (build) in his name.

Q40. Hisname is also ............ccoevviniinnnnn.. (commemorate) in Asteroid 742 Edisona.

Word Search: Words have been placed upwards, downwards, sideward and diagonally.
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Q41. A cluster of houses in a village
Q42. A bride’s outfit
Q43. Fear of water

Q44. One who is able to adapt himself to many
situations

Q45. One who offers services of his own free
will

Ascending Puzzle:

Q46. Something that can be broken easily
Q47. Adjective form of ‘Cheer’
Q48. Noun form of ‘Give’

Q49. Verb form of ‘Vacation’

Q50. Noun from of ‘Young’
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Q41. Fourth letter of the English Alphabet

Q42. To perform an action
Q43. One’s father
Q44. Who cannot hear

Q45. Not clean

Q46. Leave (Especially in order to start a
journey)

Q47. Synonym of ‘Etiquette’
Q48. Young one of a duck
Q49. Remove a certificate or certification

Q50. The quality of being dedicated or
committed to a particular task or work




Answer Key
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